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Question Id : 92090616198 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imtiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090616199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘Lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090664001. 1
92090664002. 2
92090664003. 3
92090664004. 4



Question Number : 2 Question Id : 92090616200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090664005. 1
92090664006. 2
92090664007. 3
92090664008. 4

Question Number : 3 Question Id : 92090616201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090664009. 1
92090664010. 2
92090664011. 3
92090664012. 4

Question Number : 4 Question Id : 92090616202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(4) Accentor
Options :
92090664013. 1
92090664014. 2

92090664015. 3
92090664016. 4

Question Number : S Question Id : 92090616203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs
(3 Minister of children welfare (4) Minister of environment
Options :

92090664017. 1
92090664018. 2
92090664019. 3
92090664020. 4

Question Id : 92090616198 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imitiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090616199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090664001. 1
92090664002. 2
92090664003. 3
92090664004. 4

Question Number : 2 Question Id : 92090616200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090664005. 1
92090664006. 2
92090664007. 3
92090664008. 4

Question Number : 3 Question Id : 92090616201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090664009. 1
92090664010. 2
92090664011. 3
92090664012. 4

Question Number : 4 Question Id : 92090616202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(1) Accentor
Options :
92090664013. 1
92090664014. 2

92090664015. 3
92090664016. 4

Question Number : 5 Question Id : 92090616203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs

(3) Minister of children welfare (4) Minister of environment
Options :

92090664017. 1
92090664018. 2
92090664019. 3
92090664020. 4

Sub-Section Number : 2
Sub-Section Id : 920906524
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090616204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090664021. 1
92090664022. 2
92090664023. 3



92090664024. 4

Question Number : 6 Question Id : 92090616204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090664021. 1
92090664022. 2
92090664023. 3
92090664024. 4

Question Number : 7 Question Id : 92090616205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090664025. 1
92090664026. 2
92090664027. 3
92090664028. 4

Question Number : 7 Question Id : 92090616205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090664025. 1
92090664026. 2
92090664027 3
92090664028. 4

Question Number : 8 Question Id : 92090616206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) dJawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) Jawahar had sold dry fruits.
Options :

92090664029. 1
92090664030. 2
92090664031. 3
92090664032. 4

Question Number : 8 Question Id : 92090616206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) Jawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) dJawahar had sold dry fruits.
Options :

92090664029. 1
92090664030. 2
92090664031. 3



92090664032. 4

Question Number : 9 Question Id : 92090616207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090664033. 1
92090664034. 2
92090664035. 3
92090664036. 4

Question Number : 9 Question Id : 92090616207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090664033. 1
92090664034. 2
92090664035. 3
92090664036. 4

Question Number : 10 Question Id : 92090616208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done eame as a shock.

Options :



92090664037. 1
92090664038. 2
92090664039. 3
92090664040. 4

Question Number : 10 Question Id : 92090616208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done came as a shock.

Options :

92090664037. 1
92090664038. 2
92090664039. 3
92090664040. 4

Question Number : 11 Question Id : 92090616209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090664041. 1
92090664042. 2
92090664043. 3
92090664044. 4

Question Number : 11 Question Id : 92090616209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090664041. 1
92090664042. 2
92090664043. 3
92090664044. 4

Question Number : 12 Question Id : 92090616210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) April 20th
(3) May 20th (4) August 20th
Options :

92090664045. 1
92090664046. 2
92090664047. 3
92090664048. 4

Question Number : 12 Question Id : 92090616210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) Apnl 20th
(3) May 20th (4)  August 20th
Options :

92090664045. 1
92090664046. 2
92090664047. 3
92090664048. 4

Question Number : 13 Question Id : 92090616211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Lafe of Krishna
(3) Alam Ara (4) Mughal-e-Azam
Options :

92090664049. 1
92090664050. 2
92090664051. 3
92090664052. 4

Question Number : 13 Question Id : 92090616211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Life of Krishna
(3) Alam Ara {4) Mughal-e-Azam
Options :

92090664049. 1
92090664050. 2
92090664051. 3
92090664052. 4

Question Number : 14 Question Id : 92090616212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090664053. 1
92090664054. 2
92090664055. 3
92090664056. 4

Question Number : 14 Question Id : 92090616212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090664053. 1
92090664054. 2
92090664055. 3
92090664056. 4

Question Number : 15 Question Id : 92090616213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohali
(3) Lucknow (4) Thanjavur
Options :

92090664057. 1
92090664058. 2
92090664059. 3
92090664060. 4

Question Number : 15 Question Id : 92090616213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohal
(3) Lucknow (4) Thanjavur
Options :

92090664057. 1
92090664058. 2
92090664059. 3
92090664060. 4

Question Number : 16 Question Id : 92090616214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the next numhber in the following series :
21, 35, 53, b,

(1) 105 (Z) 109
(3) 101 (4) 99

Options :

92090664061.
92090664062.
92090664063.
92090664064.

AW N =

Question Number : 16 Question Id : 92090616214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in the following series :
21, 35, 53, 75,

(1) 105 () 109
() 101 (4) 99

Options :

92090664061.
92090664062.
92090664063.
92090664064.

B W N =

Question Number : 17 Question Id : 92090616215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena 1s the only daughter of Mr. & Mrs. Joshi.
Conclusion :

(1) Mr. & Mrs. Joshi have two children.

(i) Meena has no brother.

(i11) Meena has a step brother.

(1) Only (1) follows (2) Only (1) follows
(3) Only (i) and (iii) follows (4) None of them follows
Options :

92090664065. 1
92090664066. 2
92090664067. 3
92090664068. 4

Question Number : 17 Question Id : 92090616215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena is the only daughter of Mr. & Mrs. Joshi.
Conclusion :

{1y Mr. & Mrs. Joshi have two children.

(11} Meena has no brother.

(ii1) Meena has a step brother.

(1) Only (i) follows (2) Only (11) follows
(3) Only (1) and (111) follows (4) None of them follows
Options :

92090664065. 1
92090664066. 2
92090664067. 3
92090664068. 4



Question Number : 18 Question Id : 92090616216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displaying the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(i) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) 1s implicit
(4) Both (i) and (ii) are implicit

Options :

92090664069. 1
92090664070. 2
92090664071. 3
92090664072 4

Question Number : 18 Question Id : 92090616216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displayving the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(1) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) is implicit
(4) Both (i) and (ii) are implicit

Options :

92090664069. 1
92090664070. 2
92090664071. 3
92090664072 4

Question Number : 19 Question Id : 92090616217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V 1s wife of R. T is brother of V. 5 is the mother of R. W is father-in-law of V. Y 1s
mother-in-law of 8. How 18 V related to Y7

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090664073. 1
92090664074. 2
92090664075. 3
92090664076. 4

Question Number : 19 Question Id : 92090616217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



V is wife of R. T 1z brother of V. S is the mother of B. W is father-in-law of V. Y is
mother-in-law of 5. How 15 V related to Y?

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090664073. 1
92090664074. 2
92090664075. 3
92090664076. 4

Question Number : 20 Question Id : 92090616218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090664077. 1
92090664078. 2
92090664079. 3
92090664080. 4

Question Number : 20 Question Id : 92090616218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090664077. 1
92090664078. 2
92090664079. 3
92090664080. 4



Question Number : 21 Question Id : 92090616219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ — Kx + K =0 has equal roots are:
(1) 8,4 (2) 4,4
(3) 0,4 (40 0,8

Options :

92090664081. 1
92090664082. 2
92090664083. 3
92090664084. 4

Question Number : 21 Question Id : 92090616219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ - Kx + K =0 has equal roots are:
(8.4 () 4.4
3 04 (4) 0.8

Options :

92090664081. 1
92090664082. 2
92090664083. 3
92090664084. 4

Question Number : 22 Question Id : 92090616220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

2 o |
() 663% (2) 67-%
(3) 67% (4) 6G6%
Options :

92090664085. 1
92090664086. 2
92090664087. 3



92090664088. 4

Question Number : 22 Question Id : 92090616220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

9
(1) iiﬂ%% (2) ﬁ?%%
(3) 67% (4) 66%
Options :

92090664085. 1
92090664086. 2
92090664087. 3
92090664088. 4

Question Number : 23 Question Id : 92090616221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What 1s the share of ‘D’
when total profit is T 60007

(1) T 2,000 (2) T1,600
(3) T 1,200 (4) ®1,300

A B, C 3t D v% 93erl IF *d &l ‘A Fel It & U (088 97 1 3eE e g, B
TF YT WP H IS H 8, (O TH-I1Ed 9P F IEE Fa g I 99 e D
FA1 8| 9 91 §9 91 W TEqd € & 16 J FA1 IS & 39 § # o9 ol | 3 T oy
%.6,000 8 T 3599 ‘D’ 1 91 e 27

(1) T 2,000 (2) ¥ 1,600
(3) T 1,200 (4) ¥1,300
Options :

92090664089. 1
92090664090. 2
92090664091. 3
92090664092. 4



Question Number : 23 Question Id : 92090616221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What is the share of ‘D’
when total profit is ¥ 60007

(1) T 2,000 (2) T1,600
(3) T 1.200 (4) T1,300

A, B, C 3 D U% 9Eicd € &d &1 ‘A’ Tt & U 988 9 %1 areE & g, B
UF H1UE 9P H IS HA 8, O TH-91Ed 9P FT I0EHE FGT g 3 39 IeE D
Fa 8| 9 IR §9 91 W FEqd 21d & b o A1 Il < 39 § # o9 ol I T ond
%.6,000 & ©7 3@H D’ 1 97 fha1 87

(1) T 2,000 (2) ¥ 1.600
(3) T 1.200 (4) ¥1,300
Options :

92090664089. 1
92090664090. 2
92090664091. 3
92090664092. 4

Question Number : 24 Question Id : 92090616222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 kmv'hour (2 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090664093. 1
92090664094. 2
92090664095. 3
92090664096. 4



Question Number : 24 Question Id : 92090616222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 km'hour (2} 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090664093. 1
92090664094. 2
92090664095. 3
92090664096. 4

Question Number : 25 Question Id : 92090616223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds
5} 4 minutes 50 seconds (4) 3 minutes 30 seconds
Options :

92090664097. 1
92090664098. 2
92090664099. 3
92090664100. 4

Question Number : 25 Question Id : 92090616223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds

5} 4 minutes 50 seconds (4) 3 minutes 30 seconds

Options :



92090664097. 1
92090664098. 2
92090664099. 3
92090664100. 4

Part B: Linguistics

Section Id : 920906322
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906525
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090616224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Translation between two languages is known as

{A) Interlingual Translation
(B) Intersemiotic Translation
() International translation
(D Intralingual Translation
(E) Interlinear Translation

Choose the most appropriate answer from the options given below.
(1) (B) and (E) only

(2) (A) only

(3) (C), (E) only

(4) (A), (B) and (D) only

Options :
92090664101. 1



92090664102. 2
92090664103. 3
92090664104. 4

Question Number : 26 Question Id : 92090616224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bl WTEIH] % W= % FFA1E HI HE Al B
(A) 3 Wi IS
(B) 3iaT Hishfaeh AT
(C) I AR
(D) SR AT
(E) Hau@d 3w,

= feu o famedi 4 & | 3T %1 99 Hifaw
(1) %3« (B), (E)

(2) e (A)

(3) e (C), (E)

(4)  =ad (A), (B) 3 (D)

Options :

92090664101. 1
92090664102. 2
92090664103. 3
92090664104. 4

Question Number : 27 Question Id : 92090616225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is TRUE?

(1) A word and its meaning must have a one-to-one Correspondence in natural language

(2) A natural language contains a finite number of sentences

(3) A word and its meaning must have a many-to-one Correspondence in natural
language

(4) A natural language has an arbitrary correlation between a word and its meaning

Options :

92090664105. 1
92090664106. 2
92090664107. 3
92090664108. 4

Question Number : 27 Question Id : 92090616225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafcifigd 4 8 ®F-91 94 94 87

(1)  Wehlaeh 99T & 9reg 3R 30 3 § WO &9l AT 2
(2) wHfae W1 H amedl @i g difba g 2|

(3) Tl WINT H &g 3R Iq% A H WER FHRTHRA A-EHE 2
(4)  WTepides WTST § 9reg 3R IHe 34 H ATl T9Y Bid &

Options :

92090664105. 1
92090664106. 2
92090664107. 3
92090664108. 4

Question Number : 28 Question Id : 92090616226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Giiven below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : The sentence “Karan arrived the city” is an ungrammatical sentence of
English

Reasons (R) ; The verb “arrive” is an intransitive verb.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
{4) (A) is false but (R) is true
Options :
92090664109. 1
92090664110. 2

92090664111. 3
92090664112. 4

Question Number : 28 Question Id : 92090616226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 ®YA fqu T € : Uw AuHET (Assertion (A)) % ®9 ¥ fafEa & a1 gau 396 RO
(Reasons (R)) & ®4 7 :

HAMwa (A) ;999 “Karan arrived the city” U SR 301 999 2|

= (R) A “Arrive” U FHHS AT 2

ITU FHI & A °, = for 7 fawhedi § § 999 I9gE T H T4 HIAC

(1) (A 3R (R) THT & & 37 (R), (A) F HE =me 2

(2) (A 3R (R) gFi @21 &, @f (R), (A) 1 wéi =amean 74 2
(3) (A)@El 2, «ifshd (R) wél 78 2

(4) (A =E 78 2, <FF (R) @&l 2

Options :
92090664109. 1



92090664110. 2
92090664111. 3
92090664112. 4

Question Number : 29 Question Id : 92090616227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  The word “neigbourshood” is an ill-formed word of English
Reasons (R) : The derivational morpheme must be closer to the root

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

{4) {A) is false but (R) is true

Options :

92090664113. 1
92090664114. 2
92090664115. 3
92090664116. 4

Question Number : 29 Question Id : 92090616227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 21 ®YA fqu T B : vs AfuFe (Assertion (A)) % ¥4 ¥ fafga 8 a1 gaU 39 FRO
(Reasons (R)) & #9 4 :

s (A) ;31 =2 ‘Neighbourhood’ T 3mfsd =g 21
=7 (R) Feafea 5m, g & s wH 2 E|

ITU HYA & e °, = fog 7 fawmedi 1§ 999 IUgE IT H T4 S0

(1)  (A) 3R (R) g1 858 € 3 (R), (A) Fi =& =men 2

(2) (A) 3R (R) SHi &t 2, wfe (R), (A) it ot =amen 76 &
(3) (A) @ 8, ofep (R) wél 421 2

(1) (A @E 7 2, «f (R) & 2

Options :

92090664113. 1
92090664114. 2
92090664115. 3
92090664116. 4

Question Number : 30 Question Id : 92090616228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) : Primate Communication cannot be considered ‘Language’.
Reasons (R) : Primate Communication does not satisfy the criteria of displacement from

the design features of language by Charles F. Hockett

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3} (A) 1s true but (R) is falze

(4) (A) is false but (R) is true

Options :
92090664117. 1



92090664118. 2
92090664119. 3
92090664120. 4

Question Number : 30 Question Id : 92090616228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H= &1 F9 for 70 8 : vF 3fEUE (Assertion (A)) % ®9 ¥ fofga & 1 g@u 39 w0
(Reasons (R)) & ®9 7 :

FIRUA (A) : TFET FU9OT ST 9197 T F9it T TE @ A1 Fhar|

HA (R): UHIW HU9Y S TR, Bhe gl Wfawifed “Design features of
Language” & Ta¥4T99 & WYgE &1 Tq A8 |

I HYF & ATeirh |, A feu T foawedi & 9 w99 I9gE I H 99 Hifag

(1) (A) 3R R) g4 78 € 3R R), (A) i 5 == 2

(2) (A) 3R (R) SHi @l &, wifshd (R), (A) =1 @l =amea 74 8
(3) (A) @l 8, =il (R) el & &

(4) (A =& 2, wifeT (R) @ 2

Options :

92090664117. 1
92090664118. 2
92090664119. 3
92090664120. 4

Question Number : 31 Question Id : 92090616229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List 1T
(A Kuwvi (I) Indo-Aryan
(B) Angika (I Sino-Tibetan
(Cy Mizo (IIT) Dravidian
(D Sora (IV) Munda Language

Choose the correct answer from the options given below :

(1) (A)-O. (B)-(D), (C)-(I1), (D)-(IV)
(2)  (A)-dIh. (B)-1D. (C)-(D. (D)-IV)
(3)  (A)-aD), (B)-(D), (C)-(IV), (D)-(11I)
4)  (A)-D, (B)-@), (C)-(1). (D)-(IV)

Options :

92090664121. 1
92090664122. 2
92090664123. 3
92090664124. 4

Question Number : 31 Question Id : 92090616229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He-1 % |y gei-11 i gafe i :
i1 -1
(A) T (I) andE-3m=
(B) =i (IT) =fii-fereaet
(C) st (I11) Zfafem
(D) |m (IV) g1 W

g few o fawedi @ @ wE I w1 =9w Hifaw

(1)  (A)-, (B)-(ID), (C)-(ID), (D)-IV)

(2) (A)-(I0), (B)-(ID), (C)-(D), (D)-(IV)

(3 (A)-AD), (B)-(D), (C)-AV), (D)-(11I)

(4)  (A)-(IID), (B)-(I), (C)-(11), (D)-(AV)
Options :

92090664121. 1
92090664122. 2



92090664123. 3
92090664124. 4

Question Number : 32 Question Id : 92090616230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Retroflex sounds are not found in which of the following languages?

(1) Hindi (2) Malayalam
{(3) Kharia (4) Meiteilon
Options :

92090664125. 1
92090664126. 2
92090664127. 3
92090664128. 4

Question Number : 32 Question Id : 92090616230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= et frafafea 8 e am § 78 oeft s 27

(1) =i (2) HerETeH
(3) w@fgm (4) Hfeem
Options :

92090664125. 1
92090664126. 2
92090664127. 3
92090664128. 4

Question Number : 33 Question Id : 92090616231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following languages are spoken in North-East region of India?

(A) Rabha
iB) Tulu
() Bodo
Dy Telugu
(E) Mizo

Choose the correct answer from the options given below :
(1) (A) and (E) only

() (A) and (C) only

(3) (A}, (C) and (E) only

(4) (C) and (D) only

Options :

92090664129. 1
92090664130. 2
92090664131. 3
92090664132. 4

Question Number : 33 Question Id : 92090616231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FfTRaa | HF-H1 AN G % I &9 5 Sl Al a 7

(A) T
B) 99
(C) =it
D) de
(E) fu=i

e fou My faseai @ ® |8 I w1 999 Hifau
(1) e (A) 301 (E)

(2) Ee (A) 3R (C)

(3) = (A), (C) 3R (E)

(4) =ad (C) 3 (D)



Options :

92090664129. 1
92090664130. 2
92090664131. 3
92090664132. 4

Question Number : 34 Question Id : 92090616232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A Proto language is a language that has been reconstructed using the

comparative method.

Statement 11 :  Written evidence is available for Proto language.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement [ and Statement II are incorrect

(3) Statement I is correet but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

92090664133. 1
92090664134. 2
92090664135. 3
92090664136. 4

Question Number : 34 Question Id : 92090616232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i € e feg e E

FUA 1 :  UH I WV FE 8 AN qOEATHS 919§ GTHOET 85 o

HY 11 34T 99T & 9e ° foifiga a1eg 3uerey 2|
I HYT  ATels H, Ao fGu 7o fasedi § ¥ T 39w I H 95 i

(1) w9713 IH 99 &
(2) =g 1 3 11 M1 e &
(3) Y 15 g, oifeT & 11 39 8

(4) g | 38 &, o %94 11 99 8

Options :

92090664133. 1
92090664134. 2
92090664135. 3
92090664136. 4

Question Number : 35 Question Id : 92090616233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 :

List 1 List 1T
(A) Urdu () Gurumukhi
(B) Punjabi (II) Shahmukhi
(C) Hindi (IIIY Roman
(D) English (IV) Devanagiri

Choose the correct answer from the options given below :

(1) (A)-aD, (B)-(D, (C)-(IV), (D)-(11I)
(2) (A, (B)-@), (C)-(ID), (D)-(IV)
(3)  (A)-(D), (B)-(IT), (C)-(I1I), (D)-(IV)
(4)  (A)-(I), (B)-AV), (C)-(I), (D)-(II)

Options :

92090664137. 1
92090664138. 2
92090664139. 3



92090664140. 4

Question Number : 35 Question Id : 92090616233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He-1 % @ geit-11 &1 faem Hifa
g1 ge-11

@) 3 D) T

(B) gt (1) et

(€) &= (IIT) T4

(D) = (IV) gari

Fre feu o fawedl 4 & @ 39 =1 =999 HifEw .

(D (A)-dD, B)-D, (C)-AV). (D)-(I1)
() (A)-ID), (B)-D), (C)-(I1D), (D)-(IV)
(3)  (A)-D), (B)-(ID), (C)-A1I), (D)-(IV)
(4)  (A)-(IID), (B)-(IV), (C)-(D), (D)-(1I)

Options :

92090664137. 1
92090664138. 2
92090664139. 3
92090664140. 4

Question Number : 36 Question Id : 92090616234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Translation of any audio-visual medium such as films involves

(A) Context

(B) Dubbing

(C) Sub titling

(I Back-Translation

(E) Contrastive analysis

Choose the most appropriate answer from the options given below.
(1) (B) and (E) only

(2) (B) and (C) only

(3 (B), (C) and (E) only

(4) (A) and (D) only

Options :

92090664141. 1
92090664142. 2
92090664143. 3
92090664144. 4

Question Number : 36 Question Id : 92090616234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt ¥t 379953 WTTell ® FAAIE .......... I T GHIED HAT &
A) wd

(B) 3weiidss &

(C) 39simeh

(D) W - AR

(E) =afatehi - fageram

i feu o faweal ° | Td I &1 =959 $ifa
(1) e (B) 3 (E)

(2) aa (B) 3 (C)

(3) e (B), (C) 3R (E)

(4) I (A) 3R (D)



Options :

92090664141. 1
92090664142. 2
92090664143. 3
92090664144. 4

Question Number : 37 Question Id : 92090616235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following languages can be classified under Romans languages?

(1) Dutch (2) German
(3 Spanish (4) English
Options :

92090664145. 1
92090664146. 2
92090664147. 3
92090664148. 4

Question Number : 37 Question Id : 92090616235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafeaa @ 4 fa o wmwai & ooft § avfiea o s e 27

(1) == (2) =4
(3) (4) 3=
Options :

92090664145. 1
92090664146. 2
92090664147. 3
92090664148. 4

Question Number : 38 Question Id : 92090616236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following North-Eastern languages in terms of population of Speakers.

(A) Missi
(B) Adi
(C) Khasi
(D) Garo

Choose the correct answer from the options given below :
(1) (A) (D), (B), (C)
(2) (C),(A), D), B
(@ (€. (B). ), (D)
(4)  (C), (D), (A), (B)

Options :

92090664149. 1
92090664150. 2
92090664151. 3
92090664152. 4

Question Number : 38 Question Id : 92090616236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frferfiga Iar—qaf HToTHT 1 3! SHEEAT () % Hed ° safed Hhifau)
(&)

(B) wdl
(C) =
(D) T

e fou M fasewi @ ® wE I 1 999 Hifau
(1 @), D), (B), (C)
@ (), (A), (D), (B)
(3 (C), (B), (A), (D)
(1) (C), (D), (A), (B)

Options :

92090664149. 1
92090664150. 2
92090664151. 3



92090664152. 4

Question Number : 39 Question Id : 92090616237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the followings 1s not a branch of the Indo-European language family?

(1) Hellenic (2)  Austro-Asiatic
(3 Albanian (4) Ttalian
Options :

92090664153. 1
92090664154. 2
92090664155. 3
92090664156. 4

Question Number : 39 Question Id : 92090616237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR 9T IHER 1 U6 9 Fefaiaa § 9 &4 9 T8 27

(1) et (2) FgI-ufmE
(3)  eafEr (4) sferA
Options :

92090664153. 1
92090664154. 2
92090664155. 3
92090664156. 4

Question Number : 40 Question Id : 92090616238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these languages is not listed in the 8" schedule of the Constitution?

(1) Urdu (2) Kumaoni
(3) Santhali (4) Bodo
Options :

92090664157. 1
92090664158. 2
92090664159. 3



92090664160. 4

Question Number : 40 Question Id : 92090616238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfaam i Fedt g 379 @ S @ v aieg @ g e

(1) 39 (2) FaTSA
(3) == (4) ==l

Options :

92090664157. 1
92090664158. 2
92090664159. 3
92090664160. 4

Question Number : 41 Question Id : 92090616239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 11

(A) Incorporating of loan words from one (I) Bilingual
language to other

(B) The systematic alternation between (II) Borrowing
language system in discourse

(C) Innovation of new words in a (III}) Coinage
language

(D) Ability to speak two languages with (IV) Code-switching
native proficiency

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(1IV), (C)-(I11), (D)-(D)
(2) (A)-(I1L), (B)-(11), (C)-(IV), (D)-(I)
(3) (A)-(ID), (B)-(IV), (C)-(D), (D)-(1I)
(4) (A)-(IV), (B)-(I1IL), (C)-(T), (D)-(IL)

Options :

92090664161. 1
92090664162. 2
92090664163. 3
92090664164. 4



Question Number : 41 Question Id : 92090616239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aHl-1 % w19 gq=it-11 &1 faems $ife .

gehi-1 g=A-11
(A) Torelt wror & wegi i 3uR oA (D) Tewmd
(B) |1 WOt i Wifen ® =Efem (1) 3AeH
afeEgo
(C) wrn H 99 I&ei H1 AdHGdH (IIT) famfor
(D) < wEvET & =@y g A (IV) S8 9iEad
=i |ieA <hi &

T feu mu famear § § 98 I =1 9949 Hifew

(1) (A)-D), (B)-V), (C)-(11I), (D)-I)
(2)  (A)-ID), (B)-(D), (C)-(AV), (D)-(I)
(3)  (A)-IID), (B)-(IV), (C)-(I), (D)-(1L)
(4)  (A)-(IV), (B)-(I1I), (C)-(D), (D)-(IT)

Options :

92090664161. 1
92090664162. 2
92090664163. 3
92090664164. 4

Question Number : 42 Question Id : 92090616240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  The words ‘dark’ and ‘light’ are antonyms of each other

Statement IT :  The words ‘foul” and ‘fowl’ are synonyms of each other
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3} Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090664165. 1
92090664166. 2
92090664167. 3
92090664168. 4

Question Number : 42 Question Id : 92090616240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el g Sy feu T E

F9 [: 7% ‘dark’ 37 ‘light’ T gat & faeim &)

FeA 11 : 7% ‘foul’ 3R ‘fow] T TEK & AT &1

I FHYT 5 IATeS o, [ for U faFedi § ° w99 39w I H 951 i
(1) 95 13 11 H 99 &

(2) A 1 3R [ gFi 7Terd &

(3) Ty 199 &, ek ya 11 3759 8
(4) T 1389 2, dfd %o [[ 59 8

Options :
92090664165. 1



92090664166. 2
92090664167. 3
92090664168. 4

Question Number : 43 Question Id : 92090616241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word “Brunch” is an example of

(1) Backformation (2) Clipping
(3) Conversion (4) Blend
Options :

92090664169. 1
92090664170. 2
92090664171. 3
92090664172. 4

Question Number : 43 Question Id : 92090616241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=2 ‘Brunch’ &0 £

(1) HEvEges A (2) s
(3) =9uiads (4) =fEE
Options :
92090664169. 1
92090664170. 2

92090664171. 3
92090664172. 4

Question Number : 44 Question Id : 92090616242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following sentences is ‘that’ functioning as a pronoun

(1) That I will succeed is certain
(2) I assumed that they would reach on time
(3) This is the player that [ wanted to meet

(4) That tennis player is the best one in my opinion



Options :

92090664173. 1
92090664174. 2
92090664175. 3
92090664176. 4

Question Number : 44 Question Id : 92090616242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa a=ai § 9 fead ‘that’ w/eg =51 397 9o & &9 7 far T 2:

(1) That I will succeed is certain.
(2) I assumed that they would reach on time.
(3)  This is the player that I wanted to meet.

(4) That tennis player is the best one in my opinion.

Options :

92090664173. 1
92090664174. 2
92090664175. 3
92090664176. 4

Question Number : 45 Question Id : 92090616243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not contain a non-finite clause?

(1) Sonu wished that she was rich (2) Ira considers me to be intelligent
(3) Raj is likely to lose (4) Ajay seems to like the city
Options :

92090664177. 1
92090664178. 2
92090664179. 3
92090664180. 4

Question Number : 45 Question Id : 92090616243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feferiga ami § § for stfad 39 78 27

(1) Some wished that she was rich. (2) Ila considers me to be intelligent.

(3) Raj is likely to lose. (4) Ajay seems to like the city.

Options :

92090664177. 1
92090664178. 2
92090664179. 3
92090664180. 4

Question Number : 46 Question Id : 92090616244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word ‘Lighthouse’ is an example of which type of compound?

(1) Copulative (2) Exocentric
(3) Appositional (4) Endocentric
Options :

92090664181. 1
92090664182. 2
92090664183. 3
92090664184. 4

Question Number : 46 Question Id : 92090616244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A % weg ‘Lighthouse’ form o9m™ 71 32007 2:

1) = (2) wEsife
(3) =H 4™ (4) aoge
Options :

92090664181. 1
92090664182. 2
92090664183. 3
92090664184. 4

Question Number : 47 Question Id : 92090616245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The morpheme “-ment” in the word “government” is an example of

(1) a prefix (2) a suffix
(3) an infix {(4) a circumfix
Options :

92090664185. 1
92090664186. 2
92090664187. 3
92090664188. 4

Question Number : 47 Question Id : 92090616245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wee ‘Government’ (T9H~=) ¥ 39 - ‘ment’ (F=) ISTET &:

() 39 (2) 9o
(3) A/ g (4) ufreE
Options :

92090664185. 1
92090664186. 2
92090664187. 3
92090664188. 4

Question Number : 48 Question Id : 92090616246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many morphemes are there in the word “unhappiness™

(1) five (2) three
(3) two {4) one
Options :

92090664189. 1
92090664190. 2
92090664191. 3
92090664192. 4



Question Number : 48 Question Id : 92090616246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T % W& ‘Unhappiness’ § faw =fim &7

(1) u= (2)
3 (4) uH
Options :

92090664189. 1
92090664190. 2
92090664191. 3
92090664192. 4

Question Number : 49 Question Id : 92090616247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The verb ‘babysit’ came from the noun ‘babysitter’. This type of word formation is called

(1) blending (2) compounding
{3) back formation {(4) inflectional
Options :

92090664193. 1
92090664194. 2
92090664195. 3
92090664196. 4

Question Number : 49 Question Id : 92090616247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Baby Sit’ fsam #i 3mf, 851 ‘Baby Sitter’ & &3 21 380 YR & Weg- AW I Fad @

(1)  =fasgor (2) HHTHHT

(3) HEEEe® A (4) fawafaasm
Options :

92090664193. 1
92090664194. 2
92090664195. 3



92090664196. 4

Question Number : 50 Question Id : 92090616248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick the odd one out

(D happily (2) sadly
(3) angrily {4) must
Options :

92090664197. 1
92090664198. 2
92090664199. 3
92090664200. 4

Question Number : 50 Question Id : 92090616248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr=ferfaa o & faug =i gfw:

(1) Happily (2) Sadly

(3)  Angrily (4) Must
Options :

92090664197. 1
92090664198. 2
92090664199. 3
92090664200. 4

Question Number : 51 Question Id : 92090616249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IPA stands for

(1) International Phonetic Association
(2) International Phonetic Alphabet
3 International Phone Association

(4) International Phone Alphabet

Options :
92090664201. 1



92090664202. 2
92090664203. 3
92090664204. 4

Question Number : 51 Question Id : 92090616249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TPA =7 0 719 91 87

(1) International Phonetic Association
(2) International Phonetic Alphabet
(3) International Phone Association

(4) International Phone Alphabet

Options :

92090664201. 1
92090664202. 2
92090664203. 3
92090664204. 4

Question Number : 52 Question Id : 92090616250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is FALSE?

(1) All languages have stops

(2) Typologically, the most common stops are [p, t, k,]

(3) Languages with affricates also have fricatives

(4) Languages with stops also have fricatives
Options :

92090664205. 1
92090664206. 2
92090664207. 3
92090664208. 4

Question Number : 52 Question Id : 92090616250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trafafaa amm § s-a1 3@ 87

(1) =t umT § i oot @fm g 2)

(2) Horad, dEEER g w9l @ (p, t, k)

(3) T amr ° vost-wedt @t gt € 390w wfa o g6 £
(4) 5 a1 § qoi-oqefi @At gl 8 399 "9 et o g6 gl

Options :

92090664205. 1
92090664206. 2
92090664207. 3
92090664208. 4

Question Number : 53 Question Id : 92090616251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term comes from Sanskrit word meaning ‘joining’

(1) Remote structure (2) Paradox
(3) Sandhi (4) Vibhakti
Options :

92090664209. 1
92090664210. 2
92090664211. 3
92090664212. 4

Question Number : 53 Question Id : 92090616251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ U (Y=) Wi Hha veg & fou 9w E, fomen s gdea (v w faemn) 2 g, A
FHEA 47

(1) gw |e= A1 (2) fetramamd
(3) M (1) fewfa
Options :

92090664209. 1
92090664210. 2
92090664211. 3
92090664212. 4



Question Number : 54 Question Id : 92090616252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pair of English words ‘save’ (seiv) and ‘safe’ (seif) are examples of

(1) minimal pair (2) minimal morpheme
(3) maximal pair (4) maximal morpheme
Options :

92090664213. 1
92090664214. 2
92090664215. 3
92090664216. 4

Question Number : 54 Question Id : 92090616252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIUST eE] T AT ‘save’ (seiv) 3 ‘safe’ (seif) ITEWT &:

(1)  3c9aq g9 (2) Fouaq FUH
(3) Afuwan Fm (4) SAfeepan =fm
Options :

92090664213. 1
92090664214. 2
92090664215. 3
92090664216. 4

Question Number : 55 Question Id : 92090616253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reconstructed Indio-European word ‘sab’, meaning 5uice’ changed to sap in Modern
English. The sound change, here, is part of
(1) Grimm's Law (2) Lyman's Law

(3 Verner's Law (4) Grassman’s Law

Options :

92090664217. 1
92090664218. 2
92090664219. 3



92090664220. 4

Question Number : 55 Question Id : 92090616253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H: Hifad YT W5 “Sab’ 39 9@, AYHE ST H Sap & T TF @i THadT GiHAT

=T 3T B
(1) =i (2) wETH @
(3) = (4) TmEE

Options :

92090664217. 1
92090664218. 2
92090664219. 3
92090664220. 4

Question Number : 56 Question Id : 92090616254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two forms with distinct meanings that differ by only one segment found in the same position
in each form is known as

(1) Diphthong (2) Minimal pair
(3) Mid vowels {4y Modifier
Options :

92090664221. 1
92090664222. 2
92090664223. 3
92090664224. 4

Question Number : 56 Question Id : 92090616254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9o 31T % WY 9 ° 9 S UH-gEl ¥ I 9 A1 8, 79 99 (6 91 Th &l @S IR TH
& 3 H B g

(1) wga @/ fgen (2) Feuaq IH
(3) W = an (4) T



Options :

92090664221. 1
92090664222. 2
92090664223. 3
92090664224. 4

Question Number : 57 Question Id : 92090616255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following vowel sounds in terms of vowel height from low to high

(a)  [a]
By [2]
() [U]
(D) (D]

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C)
(2) (C). (D), (B), (A)
(3)  (B), (A), (C), (D)
(4 (A), (C), (B), (I)

Options :

92090664225. 1
92090664226. 2
92090664227. 3
92090664228. 4

Question Number : 57 Question Id : 92090616255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ 4 H 3w | Ffafea =0 &1 9 5 0 % HH § F;

A)  [a]
B) 3]
(€  [u]
(D) [D]

Hr= feuw o fawedi # € W@ 30 =1 =1 i

(1) (A, (B), (D), (C)
(2)  (C), (D), (B), (A)
(3)  (B), (A), (C), (D)
4 &), (©), ®B), (D)

Options :

92090664225. 1
92090664226. 2
92090664227. 3
92090664228. 4

Question Number : 58 Question Id : 92090616256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following places of articulation in the order of front to back

(A) Alveplar
(B) Dental

(C) Labial

(D) Glottal

(E) Pharyngeal

Choose the correct answer from the options given below :

(1) (C), (A), (B), (D), (E)
(2) (C), (B). (A), (D), (E)
(3) (C). (A, (B), (E), (D)
(4) (C). (B), (A), (E), (D)
Options :

92090664229. 1
92090664230. 2
92090664231. 3



92090664232. 4

Question Number : 58 Question Id : 92090616256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafefiga F=mor T 1 39§ yvg =Saied = -

(A) T

(B)

(C) 33y
(D) TEEEEE!
(E) we=

= feu U fasredl O | Hé I F1 994 HI
() (C), (A), (B), (D), (E)
(2) (C), (B), (A), (D), (E)
(3)  (C), (A), (B), (E), (D)
(4)  (C), (B), (A), (E), (D)

Options :

92090664229. 1
92090664230. 2
92090664231. 3
92090664232. 4

Question Number : 59 Question Id : 92090616257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion A and the other are labelled as

Reason R.
Assertion (A) In some languages, syllables with coda are prohibited.
Reasons (R) : Coda consonants are not obligatory in any language.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 18 true but (R) 15 false

(4) (A) 18 falze but (R) 18 true

Options :

92090664233. 1
92090664234. 2
92090664235. 3
92090664236. 4

Question Number : 59 Question Id : 92090616257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 FuA fqu e § : v 3freud (Assertion (A)) % w9 ¥ fafigd & 41 guu 38 A
(Reasons (R)) & =9 ¥ :

AfFH (A) . TS IS § 3909 qfeqatad 2|
=T (R) : S foRdt o wamy § wfEe 98 21

ITE FHIF & AT 4, {9 fGr U fGFedi § ¥ T99 I9gE I H 951 Hifag

(1)  (A) 3R (R) g1 541 & 3R (R), (A) i gé == &
(2) (A) 3R (R) St wét &, wifeh (R), (A) <t @& =amen = 2
(3) (A @@ 2, wfera (R) & 78 2
(4) (A @& 7 2, sl (R) @81 8
Options :
92090664233. 1

92090664234. 2
92090664235. 3



92090664236. 4

Question Number : 60 Question Id : 92090616258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 1T
(a) p () Alveolar
(B) k (I) Velar
OC t (III) Bilabial
D v (IV) Labiodental

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-OV), (C)-(11), (D)-(D)
(2)  (A)-ID, (B)-aD), (C)-(D, (D)-AV)
(3)  (A)-D), (B)-(I), (C)-(I1I), (D)-(IV)
(4)  (A)-O), (B)-(II), (C)-(I1I), (D)-(IV)

Options :

92090664237. 1
92090664238. 2
92090664239. 3
92090664240. 4

Question Number : 60 Question Id : 92090616258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fei-1% =19 g-11 &1 faems $ifse

-1 -1
(A) p O aF
B) k (I) %A
i (I11) fg-zieza
D) v (IV) gdrea

e feu mu fawei 9 9 @@ I3 w1 959 i

(L) (A)-(ID, (B)-AV), (C)-(I), (D)-()
(2)  (A)-aID, (B)-aI), (C)-(D), (D)-(IV)
3 Q)-aD), B)-(D), (C)-(1I), (D)-(IV)
4)  A)-(I), (B)-(ID), (C)-(11I), (D)-(IV)

Options :

92090664237. 1
92090664238. 2
92090664239. 3
92090664240. 4

Question Number : 61 Question Id : 92090616259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List I
(A) Conjunction (I} Some
(B) Quantifier (IT} That
()  Determiner (I1Ty Hawve
(D) Auxiliary (IV) But

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(D), (C)-(1D), (D)-(I1L)
(2) (A)-(ID), (B)-(I), (C)-(I1I). (D)-(IV)
(3) (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
(4) (A)-(IV), (B)-(III), (C)-(D), (D)-(I)

Options :
92090664241. 1
92090664242. 2



92090664243. 3
92090664244. 4

Question Number : 61 Question Id : 92090616259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 % | g 11 %1 faem ifa
H=l-1 =111
(A) HI=H (I) Some
(B) uiHmENS (I) That
(C) Tt (I1I) Have
(D) =wEE=+ (IV) But

g feu o fawewi 9 ° w8 I w1 999 i

(1)  (A)-(V), (B)-(D), (C)-(II), (D)-(11I)
(2)  (A)-dD), B)-(D), (C)-(11I), (D)-IV)
(3) (A1), (B)-(ID), (C)-(IV), (D)-(1L)
(4)  (A)-V), (B)-(1D), (C)-(D), (D)-(I)

Options :

92090664241. 1
92090664242. 2
92090664243. 3
92090664244. 4

Question Number : 62 Question Id : 92090616260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick the odd one out

(1) Must (2) Would
(3) Should {(4) Think
Options :

92090664245. 1
92090664246. 2
92090664247. 3
92090664248. 4



Question Number : 62 Question Id : 92090616260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'FQ'W Eﬁ[ q iEFE:

(1) DMust (2) Would
(3) Should (4) Think
Options :

92090664245. 1
92090664246. 2
92090664247. 3
92090664248. 4

Question Number : 63 Question Id : 92090616261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the phrases given below to create a grammatical sentence of English.

(A) is here

(B) loved apples
(C)  who

(D) The girl

Choose the correct answer from the options given below :
(1) (A), (D}, (B), (C)
(2) (), (B), (D), (A)

3) (D), (C). (B), (1)
(4) (D). (B). (C). (A)
Options :

92090664249. 1
92090664250. 2
92090664251. 3
92090664252. 4

Question Number : 63 Question Id : 92090616261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fre feu o ST § 3SR U AR o S |

(A) is here

(B) loved apples
(Cy who

(D) The girl

Hr= feuw o fawedi # € W@ 30 =1 =1 i

(1 @A), @D, (B), ()
(2) (C), (B), (D), (A)
(3) (D), (O), (B), (A)
(4) (D), (B), (C), (A)

Options :

92090664249. 1
92090664250. 2
92090664251. 3
92090664252 4

Question Number : 64 Question Id : 92090616262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following sentences contain an ‘experiencer’ argument?

{A) He went to Champaran

(B) We are at home

{(C) Pihu likes gulab jamun

(D) Physics frightens Shubham

Choose the correct answer from the options given bhelow :
(1) (A), (B) only

(2) (A), (C) only

(3) (C), (D) only

(4) (B), (C), (D) only

Options :

92090664253. 1
92090664254. 2
92090664255. 3
92090664256. 4



Question Number : 64 Question Id : 92090616262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FfafEd & FH-®A @ a@9] § FA9ES g6 ol

(A) He went to Champaran.

(B) We are at home.

(C) Pihu likes gulab jamun.

(D) Physics frightens Shubham.

A R e et 3 8 e S A I
(1) % (A), (B)

(2)  =HFe (A), (O)

(3)  =aa (C), (D)

(4) %=« (B), (), (D)

Options :

92090664253. 1
92090664254. 2
92090664255. 3
92090664256. 4

Question Number : 65 Question Id : 92090616263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List I1
(A) Unaccusative ) Meet
(B) Transitive (II) Fall
(Cy Ditransitive (IIy Gift
(D)  Unergative (IV) Jump

Choose the correct answer from the options given below :

(1) (A)-AV), (B)-(D), (C)-(ID), (D)-(11I)
(2)  (A)-ID. (B)-(I), (C)-(IV), (D)-(I)
3) (A, (B)-aII), (C)-(ID), (I)-(IV)
4)  (A)-D), (B)-(@). (C)-(II), (D)-(IV)

Options :

92090664257 1
92090664258. 2
92090664259. 3
92090664260. 4

Question Number : 65 Question Id : 92090616263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 =y g=h-11 =1 faem Fifaw
T=-1 =11
(A) FHIHNE (M Meet
(B) TFd=® (II) Fall
(C) Temidw (I11) Gift
(D) #=d (V) Jump

g few o fawedl 9 € wE I w1 959 i

(L (A)-AV), (B)-(), (C)-(1D), (D)-(11I)
(2  (A)-aD), (B)-11D), (C)~(IV), (D)-(D)
3 A-D, (B)-(11D), (C)-(ID), (D)-(IV)
4)  (A)-aD), B)«D), (O)-ID, (D)-IV)
Options :
92090664257. 1

92090664258. 2
92090664259. 3



92090664260. 4

Question Number : 66 Question Id : 92090616264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface word order in the sentence ; “Coffee, I like”. is:

(1) SVO (2) OS8SV
(3) SOV (49) OVS
Options :

92090664261. 1
92090664262. 2
92090664263. 3
92090664264. 4

Question Number : 66 Question Id : 92090616264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Coffee, I like” 9199 &1 Hddl Te-HA &:

(1) SVO (2) OSV
3) SOV (4) OVS
Options :

92090664261. 1
92090664262. 2
92090664263. 3
92090664264. 4

Question Number : 67 Question Id : 92090616265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The grammar component that pertains to phrase structure and sentence structure is known
as —

(1) Semantics (2) Byntax
(3 Phonetics (4) Pragmatics
Options :

92090664265. 1
92090664266. 2



92090664267. 3
92090664268. 4

Question Number : 67 Question Id : 92090616265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR i T8 F1s W AT GLEAT I AT GG ¥ GE9d &, el awl e

(1) =9 T (2) e fagm
(3) @ fagm (4) SEN goieh A
Options :

92090664265. 1
92090664266. 2
92090664267. 3
92090664268. 4

Question Number : 68 Question Id : 92090616266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iz a term used in semantics to refer to a direct association between form and

meaning
(1) Synaesthesia (2) Vowel
(3) Sychronic (4) Syncope
Options :

92090664269. 1
92090664270. 2
92090664271. 3
92090664272. 4

Question Number : 68 Question Id : 92090616266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT H w9 3 3% o ©iY g9y i euiH § Y oayE A &g JIT <l Sl 2l
(1) HeEded (2) =
(3) HHEIGH (4) &AM

Options :



92090664269. 1
92090664270. 2
92090664271. 3
92090664272. 4

Question Number : 69 Question Id : 92090616267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of an adjective that can be used attributively but not
predicatively?

(1) agile (2) serious
(3) naughty (4) previcus
Options :

92090664273. 1
92090664274. 2
92090664275. 3
92090664276. 4

Question Number : 69 Question Id : 92090616267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fofas 3 & =60 @1 v fawm =1 e 2 e w3 oners w9 " R o w2
T Tt €9 € 99

(1) Agile (2) Serious
(3) Naughty (4) Previous
Options :

92090664273. 1
92090664274. 2
92090664275. 3
92090664276. 4

Question Number : 70 Question Id : 92090616268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an example of an adjective that can be used attributively but not
predicatively?

(1) tall (2) former
(3) happy (4) docile
Options :

92090664277. 1
92090664278. 2
92090664279. 3
92090664280. 4

Question Number : 70 Question Id : 92090616268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafigs § @ *9 @1 serw v fasmn =1 2 foees @ e fGgen F w9 4 8@
AT & T fav T & =9 1 =8

(1) tall (2) former
(3)  happy (4) docile
Options :

92090664277. 1
92090664278. 2
92090664279. 3
92090664280. 4

Question Number : 71 Question Id : 92090616269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not illustrate the application of the substitution test?
(1) The cats played in the mud.

They played in the mud
(2) The cats will play in the mud, if the boys do so

(3) The cats played in the mud.
The cats played there

(4) The cats played in the mud and enjoyed it

Options :
92090664281. 1
92090664282. 2



92090664283. 3
92090664284. 4

Question Number : 71 Question Id : 92090616269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=ferfiga ® & = gfoemam gig % Sy 6 S J8 w87
(1) fafeea 3 Faeg 4 gan)
4 F9g § Tl
2 fafeoat e 4 o, afe weF @ =@ £
(3) fafeemi 1 Frag 4 @en
fafeerat a=f el
(4) Tafceal 3 Fas T To 31 565H AHE 38 1

Options :

92090664281. 1
92090664282. 2
92090664283. 3
92090664284. 4

Question Number : 72 Question Id : 92090616270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the sentences below, which sentences are examples of subject-auxiliary inversion?

(A) What have you bought?
(B) Mona has invited me.
(C) Jeetu is happy, right?
(D)  Will he wvisit us?

Choose the correct answer from the options given below :

(1) (D) only

(2) (B), (C) only

(3) (A), (C), (D) only
(4) (A), (D) only

Options :
92090664285. 1
92090664286. 2



92090664287. 3
92090664288. 4

Question Number : 72 Question Id : 92090616270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I feu e @ S-S O 99 FA-T8ES a1 G9m & I

(A) What have you bought?
(B) Mona has invited me.
(C) dJeetu is happy, right?
(D) Will he visit us?

i fou MU el ® § 9E I 1 999 Hifau
(1) ==« (D)

(2) == (B), (O)

(3) e (A), (O), (D)

(4) == (A), (D)

Options :

92090664285. 1
92090664286. 2
92090664287. 3
92090664288. 4

Question Number : 73 Question Id : 92090616271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is a term derived from the work of J.L. Austin’s theory which analyses the role
of utterances in relation to the behaviour of Speaker and hearer.

(1) Sound act (2) Speech act
(3) Speech chain (4) Sound processing
Options :

92090664289. 1
92090664290. 2
92090664291. 3



92090664292. 4

Question Number : 73 Question Id : 92090616271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J.L. Austin =1 Ffa § e faga $1 a1 qivaiivs vsg i I=woi Hi qus # e,
T U ATAT o TEH 98N H Hidl 8, 98 hEddl 8:

(1) @& i (2) Sumr Hifq
(3) wHUw B (4) e FER
Options :

92090664289. 1
92090664290. 2
92090664291. 3
92090664292. 4

Question Number : 74 Question Id : 92090616272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every person has a unique way of speaking that is called

(1) An idiolect (2) A dialect
(3) A social lect {4) An Accent
Options :

92090664293. 1
92090664294. 2
92090664295. 3
92090664296. 4

Question Number : 74 Question Id : 92090616272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S SAfad @ U aieH i AfgaE {fd g6l 8, S FHgend 8

(1) =afEaym (2) et
(3) HHI=EY9™ET (4) =
Options :

92090664293. 1



92090664294. 2
92090664295. 3
92090664296. 4

Question Number : 75 Question Id : 92090616273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is defined of the general ability to use language accurately, appropriately and

flexibly.

(1) Performance (2) Communicative competence

(3) Strategic competence {(4) Sociolinguistic competence
Options :

92090664297. 1
92090664298. 2
92090664299. 3
92090664300. 4

Question Number : 75 Question Id : 92090616273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g9 WA F TR, TG TS SN i HTOR A wfraifae feran
™ B

(1) T (2) et gaF

(3) Trifae g&an (4) THTS 9IS S0 geTl

Options :

92090664297. 1
92090664298. 2
92090664299. 3
92090664300. 4

Question Number : 76 Question Id : 92090616274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the two major aspects of James Holme's ‘Map of Translation Studies™

(A) Pure

(B) Applied

(C) Intralingual

(D Interlingual

(E) Teaching and testing

Choose the most appropriate answer from the options given below :

(1) (C) and (D) only
(2)  (E)only
(3 (A) and (B) only
(4) (E), (C), (D) only
Options :
92090664301. 1
92090664302. 2
92090664303. 3
92090664304. 4

Question Number : 76 Question Id : 92090616274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

James Holme's &I ‘Map of Translation Studies’ & & Wq@ HEM 391 87

(A) g

(B) w3

(C) AT Wik
(D) A wifvh

(E) furgmor ug =i

e feu o faseal 0 © waifaes @8 I 1 994 HIfa
(1) &aa (C) 3 (D)

(2) %4« (E)

(3) had (A) 3R (B)

(4) =@ (B), (C), (D)



Options :

92090664301. 1
92090664302. 2
92090664303. 3
92090664304. 4

Question Number : 77 Question Id : 92090616275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages in the developmental order for child language acquisition?

(A) Telegraphic stage
(B) Two-word stage
(C) Holophrase stage
(D) Babbling stage

Choose the correct answer from the options given below :

(1) (D), (C). (B), (A)
(2) (B), (C). (D), (A)
(3) (A), (B}, (C), (D)
4 (©). (B). (A),. (D)
Options :

92090664305. 1
92090664306. 2
92090664307. 3
92090664308. 4

Question Number : 77 Question Id : 92090616275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl |I9T oA & (IR & T %l cand|

(A) EefTRS T
(B) Teufez =
(C) Beihies &
(D) sl &

e few T fawedi d & wE I w1 =1 i

(1) (D), (C), (B), (A)
2 (B, (C), (D), (A)
(3 (A, (B), (C), (D)
(4) (C), (B), (A), (D)

Options :

92090664305. 1
92090664306. 2
92090664307. 3
92090664308. 4

Question Number : 78 Question Id : 92090616276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the work of Peter Trudgill in chronologieal order :

(A) Dialects in contact
(B) Linguistic change and diffusion
(C) New-Dialect formation

(D) Sociolinguistic variation and change

Choose the correct answer from the options given below :

(1) (B), (A), (D), (C)

(2) (A), (B), (D), (C)

(3) (C), (B), (A), (D)

(4) (C), (A), (B), (D
Options :

92090664309. 1
92090664310. 2
92090664311. 3
92090664312. 4



Question Number : 78 Question Id : 92090616276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et Z3fe i Ffadl 1 FEHITER AT B
(A) SHEEECE $1 HIewR
(B) fafafes = wwe fewEm
(€) SR BiGEH
(D) wifmEfafafes afeem we 5=

fr feu o famedi @ @ ol 39 =1 =99 i .
(1)  (B), (A), (D), (C)
2) (A), (B), (D). (O
(3)  (C), (B), (A), (D)
4 (©), (A), (B), (D)

Options :

92090664309. 1
92090664310. 2
92090664311. 3
92090664312. 4

Question Number : 79 Question Id : 92090616277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A case where the Target text contains no equivalent of a source text item is known as

(1) Zero translation (2) Textual equivalence
(3) Transfer (4) Double translation
Options :

92090664313. 1
92090664314. 2
92090664315. 3
92090664316. 4



Question Number : 79 Question Id : 92090616277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9% feufa el @i 918 °, 9o 118 U¢ 1 FIE 90dcdis A81 8, HEdmdl @

(1) I3 HfEE (2) 9B FHA
(3) EW (4) BB AR
Options :

92090664313. 1
92090664314. 2
92090664315. 3
92090664316. 4

Question Number : 80 Question Id : 92090616278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | :  Children don't hear adults produce the past tense forms such as *doed,
*runned, *goed, but most children produce them in the process of

language acquisition.

Statement 11 :  Memorization of an inventory of words and sentences equips learners to

understand novel sentences.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I1 are incorrect
(3) Statement I is correct but Statement I is incorrect
(1) Statement I is incorrect but Statement 11 is correct

Options :



92090664317. 1
92090664318. 2
92090664319. 3
92090664320. 4

Question Number : 80 Question Id : 92090616278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 2w few o E
HYT [ : &= 394 921 & EGEAR] % ®9 9 doed, runned, goed, etc., I R A8
Hd Tohq AUeat S=1 YT 379 URAT § §% I=1d i 8l
&Y 11 : Taamrefl & 7d= T & 9939 & fou, wegl g g 6 Feer g4, 9
ETGIRA
ITRE Y % ATCh |, A fou mu fasmedt § & F9 3ugw I 1 991 S
(1) o 1 3 %2 113 w8 &
(2) = 1 3R %2 11 gHi o 8
(3) =y 1 HE &, dfhd wee 11 7ed 8
(4) =¥ 17ed 7, oifeh w2 11 580 8
Options :
92090664317. 1
92090664318. 2

92090664319. 3
92090664320. 4

Question Number : 81 Question Id : 92090616279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I :  English was introduced in India by The British in the Ninth century
and soon it became the language of administration, medium of higher
education and common language among educated people from different

parts of the country.

Statement 11 1 After the end of British rule in 1947, Hindi was given the status of an

official language of The Union of India.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement [ and Statement I1 are correct

(2) Both Statement I and Statement I are incorrect

(3} Statement I is correct but Statement 11 is incorrect

{4) Statement I is incorrect but Statement 11 is correct
Options :

92090664321. 1
92090664322. 2
92090664323. 3
92090664324. 4

Question Number : 81 Question Id : 92090616279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr g1 wy few o #

wuq [ : Sl waedt § wia 0 US4 30t 1 I=ed 5 3 doe € 98 9E 6

amT, 3= foem =1 grem it 2w 5 fafim g O fafga <o i 9w oamw
T TS|

Fu 11 : 5w w8 & 39 & 9% a4 1947 ° f&=< &1 9na & Fnl 9 &1 g e

RIE N

IE HUF o ATelk °, A fou mu faewmed O @ ged IugeE I w1 99 Fifan

(1)
(2)
(3)
(4)

FYA 1 31 11 i wal 8
FYA 1 3 11 g1 Tera &
FUA 1 981 &, oifed %94 11 7Teid 2
F9H 1 7T 2, wfhd %94 11 981 8

Options :

92090664321. 1
92090664322. 2
92090664323. 3
92090664324. 4

Question Number : 82 Question Id : 92090616280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of the mental processes and representations involved in Language comprehension
and production

(&)
(B)
(©)
(D)
(E)

Syntax
Pavcholinguistics
Translation studies
Semantics

Sociolinguistics

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(B) and (C) only
(B) only
(A), (E), (D) only
(C) only



Options :

92090664325. 1
92090664326. 2
92090664327. 3
92090664328. 4

Question Number : 82 Question Id : 92090616280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT Tiha3l Ud AaEqu &1 eI 99T 914 Ug 3c9764 i Hfed idl 21
(A)  Fg-fa=m

(B) AT
(C) e fagm
(D) Y fagm

(E) =i amr fasm

g feu o famedt # @ = I %1 9w i
(1) %ae (B) 3 (C)

(2) %ad (B)

(3) Faa (A), (B), (D)

(4) ad (C)

Options :

92090664325. 1
92090664326. 2
92090664327. 3
92090664328. 4

Question Number : 83 Question Id : 92090616281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The study of abnormal language behaviour, especially associated with medical condition is
called

(1) (Genetic Relationship (2) Natural language processing
(3) Language pathology (4) Language planning
Options :

92090664329. 1
92090664330. 2
92090664331. 3
92090664332. 4

Question Number : 83 Question Id : 92090616281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oo =0 5 faferadfia <on ¥ T=g 39am= 9N =9EN F1 AS=TH FaA 8:

(1) SAgEr+ =y (2) Wihfd HIET TEEH
@ e o @ s
Options :

92090664329. 1
92090664330. 2
92090664331. 3
92090664332. 4

Question Number : 84 Question Id : 92090616282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A larges body of machine-readable texts may be referred as

(1) Set Expression (2) Computer corpus
(3) Generative Grammar (4) Critical linguistics
Options :

92090664333. 1
92090664334. 2
92090664335. 3
92090664336. 4

Question Number : 84 Question Id : 92090616282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YA & YeE A & g&T 9T & 93 e wi foem w9 § wefda e o1 e 27

(1) fafrag sfysfeE (2) FA IIEHE
(3)  I9IEH SR (4) IArEATES 9T fase
Options :

92090664333. 1
92090664334. 2
92090664335. 3
92090664336. 4

Question Number : 85 Question Id : 92090616283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term which in used to refer to relationship between to words derived from the same root
18

(1) Paronymy (2) Homophone
(3) Polysemy (4) Paratone
Options :

92090664337. 1
92090664338. 2
92090664339. 3
92090664340. 4

Question Number : 85 Question Id : 92090616283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% WeeYl W TUYS § oFfcdd Wegl & YHEdi{sh Hayl i SR Hal 8, HEerd 2|

(1) @murg (2) HHMEENE
(3) Tt (4) = =
Options :

92090664337. 1
92090664338. 2
92090664339. 3
92090664340. 4



Question Number : 86 Question Id : 92090616284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) :  Machine Translation systems have been traditionally developed using rule-
based approaches.

Reasons (R) : Machine Translation encodes formal linguistic representations of the

lexicon, grammar, semantics ete.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(1) (A) 1= false but (R) is true

Options :

92090664341. 1
92090664342. 2
92090664343. 3
92090664344. 4

Question Number : 86 Question Id : 92090616284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 &1 %Y QU T B : U AFHEA (Assertion (A)) % ®9 H foifiga & a1 gaU 39 AW
(Reasons (R)) & &9 7 :

AFH (A) . AHAF ARG U AUV HEmEg A 1 IwEe w9 8
2l

F (R) : RIECTIICO G A | o 0 M G B o g B e e B L
31 o 3=t iivs Sagal i Ygfia #a 2|

ITRE FUH o AT °, A fou mu fawed § & @9 3ugeE I H 95 Hifan

(1)  (A) 3 (R) gH1 &1 € 31 (R), (A) i =&l =arem 2

(2)  (A) 3R (R) SH1 @l &, wifshd (R), (A) =51 @l =amen e #
(3) (A) @ 2, wfd (R) @i 78 @

(4) (A @ TE 2, @l (R) 9 2

Options :

92090664341. 1
92090664342. 2
92090664343. 3
92090664344. 4

Question Number : 87 Question Id : 92090616285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lexical items which have the same meanings are called

(1) Prosody (2) Preposition
(3) Particle (4) Synonym
Options :

92090664345. 1
92090664346. 2
92090664347. 3
92090664348. 4

Question Number : 87 Question Id : 92090616285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wifees (So-fawas) fawa foess aum 379 @ £, 3 e & -

(1) wearA (2) e
(3) Bl Hw (4) wETEET
Options :

92090664345. 1
92090664346. 2
92090664347. 3
92090664348. 4

Question Number : 88 Question Id : 92090616286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List 1T
(A) Verb (' Teacher
(B) Adjective (II} Arrive
() WNoun (IITI} Beautiful
(D) Preposition (IV) In

Choose the correct answer from the options given below :

(1)  (A)-aD), (B)-(I1D), (C)-(IV), (D)-(I)
(2)  (A)-0ID), (B)-[@). (C)-(1), (D)-(IV)
(3)  (A)-aD), (B)-(1D), (C)-(1), (D)-(IV)
4y (A)-aV), (B)-(ID), (C)«(T), (D)-(ILI)

Options :

92090664349. 1
92090664350. 2
92090664351. 3
92090664352. 4

Question Number : 88 Question Id : 92090616286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % a1 =11 &1 T Hife

g1 g1
(A) femam (I) Teacher
(B) oo (I) Arrive
(C) == (ITT) Beautiful
(D) e (IV) In

g feu o famwewl O ° 98 39 =1 =94 Fifsu .

(1) (A)-aD, (B)-IID, (C)-1V), (D)-(D)
(2)  (A)-(IID), (B)-(D), (O)-(II), (D)-(IV)
(3)  (A)-1AD), (B)-(I1D), (C)-(D), (D)-AV)
(4)  (A)-AV), (B)-ID, (C)-(D), (D)-(1L)

Options :

92090664349. 1
92090664350. 2
92090664351. 3
92090664352. 4

Question Number : 89 Question Id : 92090616287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

are words related to Languages that developed from the same root.

(1) Cognates (2) Phone
(3) Consonants (4) Morphemes
Options :

92090664353. 1
92090664354. 2
92090664355. 3
92090664356. 4

Question Number : 89 Question Id : 92090616287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 veg £ 9l 31 Wi ¥ Hatud & fames faem &1 g v & 2

(1) w=ifaa (2) ==
(3) = (4) =fm
Options :

92090664353. 1
92090664354. 2
92090664355. 3
92090664356. 4

Question Number : 90 Question Id : 92090616288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The phrases ‘forgotten about’ and ‘forgot aboutten’ are not examples of

slips of the tongue

Statement 11 : The words ‘they” and ‘us’ are not examples of R-expressions

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 1 are true

(2) Both Statement [ and Statement IT are false

(3) Statement I is true but Statement I is false
(4) Statement [ is false but Statement II is true
Options :

92090664357. 1
92090664358. 2
92090664359. 3
92090664360. 4

Question Number : 90 Question Id : 92090616288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g e fer Tu E

w99 1: FEW “forgotten about” 3T “forgot aboutten” & fhEem & IeEw
TE 2|

FeF 11 : 9= ‘they’ 3 ‘us’ FYgfee Afr=ataa = Igem 8 &l
T HIA & @ °, A feu U fawmed § ¥ 798 30w I A =591 Fifa

(1) =y 1 3R Il gH 98 &
(2) &g9 1 31 [ eHi Tad &
(3) =y 1= 2, o =99 11 71 2
(4) =Y 174 2, i 2 [ 961 2
Options :
92090664357. 1
92090664358. 2

92090664359. 3
92090664360. 4

Question Number : 91 Question Id : 92090616289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the correct option from the following :

Speak : Sing: : Walk ;

(1) slow (2) good
(3) run (4} new
Options :

92090664361. 1
92090664362. 2
92090664363. 3
92090664364. 4

Question Number : 91 Question Id : 92090616289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr feu mu fammen & @l wm $ gfd Fifw

Speak : Sing : : Walk :

(1) slow (2) good
(3) run (4) new
Options :

92090664361. 1
92090664362. 2
92090664363. 3
92090664364. 4

Question Number : 92 Question Id : 92090616290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | :  The Indian grammatical Tradition predates the Greco-Roman tradition.
Statement 11 :  The Greco-Roman tradition is dependent on the Indian Grammatieal
Tradition.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement 11 is incorrect

{4) Statement I is incorrect but Statement Il is correct
Options :

92090664365. 1
92090664366. 2
92090664367. 3
92090664368. 4



Question Number : 92 Question Id : 92090616290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e < e g e € -

HYq [ HHATE SATRUER TR, Ui-18T SR E 9Ed i 2

FHYF 11 - Uhi-THT T, WA STt S0 T A1 21

ITI FHYAT & e o, A= Gu e fawed § @ waiivys 39g® 3w g0
(1) w5 1 3 %2 11 g1 981 8

(2) & 1 3R %y [ 41 Toid &

(3) @ 15E 2, foeg %9 11 7eid 2

(4) FY 174 8, Thq % [1 981 8
Options :
92090664365. 1
92090664366. 2

92090664367. 3
92090664368. 4

Question Number : 93 Question Id : 92090616291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The notion of Langue and Parole was introduced by

(1) Chomsky (2) John Lyons
(3) Saussure (4) Bloomfield
Options :

92090664369. 1
92090664370. 2
92090664371. 3
92090664372. 4

Question Number : 93 Question Id : 92090616291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT SHEE] FN SAGEN SEYRAT 1 Siades fhaeh gr fomar man?

(1) =i (2) =i ferg
(3) @R (4) =H(beE
Options :

92090664369. 1
92090664370. 2
92090664371. 3
92090664372. 4

Question Number : 94 Question Id : 92090616292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last 11 :

List 1 List IT
(A} Language instf I} Bloomfield
(B) Introduction to Theoretical linguistieca (1I) Steven Pinker
(C) Bound patterns of English (I1T) John Lyons
(D) Language (IV) Chomsky

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)
(2) (A)-(11), (B)-(I1I), (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(IV), (C)-(I1I), (D)-(D)
(4)  (A)-(V), (B)-(III), (C)-(D), (D)-(IT)

Options :

92090664373. 1
92090664374. 2
92090664375. 3
92090664376. 4

Question Number : 94 Question Id : 92090616292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F-1 % gi-11 & gifra Hif -

F=i-1 -1
(A) s () =TTHics
(B) sgis®H T Afiewa (1) =ree fie
feafafeam
(C) dmEs el 3T siersr (I11) S ===
(D) <=t (IV) =meh

I fev mu fawewl 9 € wd 39 =1 =959 i

(1) (A)-(), (B)-(IID), (C)-(IV), (D)-(II)
2 (A)-AD, (B)-(ID), (C)-(IV), (D))
3 (AW-ID, (B)-@V), (C)-(ID), (D)-(D
4)  (A)-V), (B)-(1D, (C)-(D), (D)-AT)

Options :

92090664373. 1
92090664374. 2
92090664375. 3
92090664376. 4

Question Number : 95 Question Id : 92090616293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List II
(A) Grimm's Law and Verner's law () LAD
(B) Fillmore and Kay (IIY Verbal Behaviour
(C) Chomsky (IIT) Sound change
() B.F. Skinner {IV) Construction grammar

Choose the correct answer from the options given below :

(1) (A)-II), (B)-(D), (C)-(IV), (D)-(II)
(2)  (A)-(ID, (B)-(AV), (C)-(D), (D)-(II)
(3)  (A)-aI), (B)-(D), (C)-(IV), (D)-(II)
(4)  (&)-AV), (B)-(1I), (C)-(D), (D)-(II)

Options :
92090664377. 1



92090664378. 2
92090664379. 3
92090664380. 4

Question Number : 95 Question Id : 92090616293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T1-1 &t g=i-11 & gafaa $ifau -
-1 -1
(A) g & A T & (I) LAD
(B) e 3 = (I1) mfece ==aER
(C) =r==hi (I1T) =&t i
(D) #t.us. feFm (IV) ST=HT =TT

g feu mu fawewi 8 € wE I w1 9= i

(1)  (A)-(IID), (B)-(I), (C)-(IV), (D)-(1I)
(2) (A)-(IID), (B)-(IV), (C)-(I), (D)-(IT)
(3)  (A)-D, (B)-(D), (C)-(IV), (D)-(11I)
(4)  (A)-(IV), (B)-(I1D), (C)-(D), (D)-(I)

Options :

92090664377. 1
92090664378. 2
92090664379. 3
92090664380. 4

Question Number : 96 Question Id : 92090616294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i

(A) Ashtadhyvayi
(B) Nirukta

(C) Vakyvapadyam
(D) Mahabhashya

Choose the correct answer from the options given below :

(1) (O, (A (D), (B)
(2) (B, A D), (C)
(3)  (C), (D). (A), (B)
(4) (D), (C), (A, (B)

).
).
Options :
92090664381. 1
92090664382. 2

92090664383. 3
92090664384. 4

Question Number : 96 Question Id : 92090616294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafafaa = = 33 30 & w9 1 2|

Lt

(A)  3mereE
(B) Tieam
(C) =TFYeEH
(D) wHerHT

g few o famedi o @ wE 39 =1 =99 i .

(1)  (©), (A), (D), (B)
@ (B, A), D), (©)
3 (C), (D), (A), (B)
(4) (D), (©), (A). (B)

Options :
92090664381. 1
92090664382. 2



92090664383. 3
92090664384. 4

Question Number : 97 Question Id : 92090616295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Ashtadhyayi” is written by

(1) Bharatrihari (2) Pannini
(3) Patanjali (4) Yaksha
Options :

92090664385. 1
92090664386. 2
92090664387. 3
92090664388. 4

Question Number : 97 Question Id : 92090616295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“ITTETET” o e §

(1) el (2) rfor
(3) TAwAf (4) I
Options :

92090664385. 1
92090664386. 2
92090664387. 3
92090664388. 4

Question Number : 98 Question Id : 92090616296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mahabhasya is the work of

(1) Patanjali (2) Panini
(3) Bhartrihari (4) Buddha

Options :



92090664389. 1
92090664390. 2
92090664391. 3
92090664392. 4

Question Number : 98 Question Id : 92090616296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TeraTs foRueht Hfa &7

(1) va=fe (2) wrfirt

(3) wgEl (4) 9=
Options :

92090664389. 1
92090664390. 2
92090664391. 3
92090664392. 4

Question Number : 99 Question Id : 92090616297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Book “Language” is written by

(1) Bloomfield (2) Chomsky
(3) David Crystal (4) Francis Katambe
Options :

92090664393. 1
92090664394. 2
92090664395. 3
92090664396. 4

Question Number : 99 Question Id : 92090616297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS A [ & oidh &

(1) =HdeE (2) b
(3) cfue faea (4) HifeE iea
Options :

92090664393. 1
92090664394. 2
92090664395. 3
92090664396. 4

Question Number : 100 Question Id : 92090616298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Book “Origin and Development of Bengali Language” is written by

(1) Harjeet Singh Gill (2) Sukumar Sen
(3) Suniti Kumar Chatterjee (4) N. Chomsky
Options :

92090664397. 1
92090664398. 2
92090664399. 3
92090664400. 4

Question Number : 100 Question Id : 92090616298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS “IT wE Saee 3 SE o & a8

(1) & e fi (2) P E
(3)  HHifa FaR =t (4) TF. Tl
Options :

92090664397. 1
92090664398. 2
92090664399. 3
92090664400. 4



